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The Writing
Test

Tlroughout Section 2 you will get most henefit by writing your own answers
to the questions before you read the sample answers given.

About the Writing Test

The Academic Writing test takes 60 minutes. lt consists of two tasks. The
suggested time for each task is 20 minutes for Task 1 and 40 minutes for

Task 2.
The first task requires you to describe a table, graph, chart or process or
procedure, The second task requires a written argument. le carries more matrks

ask o [H ﬂ R N : ;
\— / e\ N UTR )
cra r)({_SC'(\n‘ ‘l‘le Wb you st HHS:H_‘P 4 AE
) A\ /) v ) e ) ( ‘: ) \
<not matter whiclsectignyou do first.— S

Getting the Instructions Right

Tasx 1

You should spend about 20 minutes on this task.
ExampLE
The tablel/graphibar charts below show ...

Write a report for a university lecturer describing the information shown
helow.

You should write at least 150 words.
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Task 1

Tliere are four key points to these instructions:

¢ the time — 20 minutes
the number of words — at least 150

e the text — a report, but not in business report format
the reader — a university lecturer.

Task 2

You should spend about 40 minutes on this task.

ExAMPLE

Present a written argument or case to an educated reader with
no specialist knowledge of the following topic.

[Essay topic]

You should write at least 250 words. )

You should use your own ideas, knowledge and experience
and support your arguments with examples and relevant
evidence.

hEVH four j[eyv\_\i)() 5
time — 40 minutes

e the number of words — at least 250

the text — a written argument with examples and evidence from your own
knowledge

stu instruction

— O I/

the reader — an educated person with only general knowledge of the topic.

The IELTS Writing Task 1 is an information transfer task which requires you

to write a fairly precise account of some informarion presented in graphic

form, such as a graph, table or some form of a pictorial representation of dara.
In order to complete Task 1 successfully, follow these suggestions.

i + Do not spend more than 20 minutes completing the task.
; e Spend at least 3-5 minutes planning yogr answer.
' + Read the instructions carefully.

] » Analyse the illustration.

\ *  Organise the information.

] ® Draw a conclusion.

; o—Checkoverwhatyouhavewritten:

}

i

|

i

e 1 N ]
e

The Writing Test 101 |

Caed




} Describing Graphs

e e g ..o %

‘ I~
| |
Practice :
You should spend about 20 minutes on this task. +
The graph below shows the area of land from which grain was harvested. t
Write a report for a university lecturer describing the information in the [
graph. !
You should write at least 150 words. i
3 !
E Doubling of worid
| [ T grain prices S TN T |
i 700~ wroeerens s B
: d
i o B850 g eV Ty 1
o
£ 600 \\ -1
[H)
N =
§ 0SSR Virgin T i
Z 500 -f--oooet Lands Program. .. i
450 Ee T .,_u,,,,,,,,,,,‘,‘,._,_____.____;._.,_... .
5 Q00— em e
: 300=t=r51 17 i [
E 1950, / @ |
Figure 1 World grain harvested area, 1950-96
'
i
|
i
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Here are some notes written during the planning stage of the essay.

Timeftense
Topic

General trend

Past time — past tense

Wid Ind area hvstd 1950-96
1950-80 ~, then = |

USSR virg Inds prgm = grt ~
WId pres 2x = 1pd o~
Rtrchmnt & grad *«

Conclusion Grn Ind affctd gov pol & mkt frcs
Explanation
= cause Notice how words have been abbreviated by

A = increase
“ = decrease

EXERCISE 1

Time target — none

leaving out the vowels. This is a useful way
of making notes in English. If you do this

gl‘lﬂmly you 111 find th tbecomes B
juitg|eas tq r mempg,r 3}? ds Fhe “ U
- e

‘e atlﬁhs\i‘ejm m/ 1 EIRNSTANS

This exercise is to give you practice with abbreviations, Here are the
abbreviations used in the notes above. Write the full word beside

| each one.
: I wld 9 rirchmnt
', 2 Ind 10 grad
1 3 hvstd 11 gron
' 4 virg 12 afferd
5 prgm 13 gov
: 6 grt 14 pol
7 pics 15 mkt
; g rpd 16 fres

The Writing Test !103 ‘




There are other ways to abbreviate these words. You should develop your own
way of abbreviating in English.

; When planning your essay it is important to:
i o know exactly what is required to complete the task
e brainstorm similar words from the topic so the subjects of your sentences
can be written in your own words
e determine the time period so that the correct tense is used
e develop a general statement that gives an overall impression of the graph
i o decide which significant details will be discussed to reflect the task
requirement
e draw a relevant conclusion or sumimarise what you have written.

In the exam you can write notes on the illustration and in a clearly defined
space on the front of your answer papet. Your notes should be in abbreviated
form in order to save time. They should also be organised in the same way as
you are going to write the essay.

PSPPSR ———

EXERCISE 2

Time target - 5 minutes

Write a report for a university lecturer describing the information on the
graph. You should write at least 150 words.

40
N West Indies

India and Pakistan

anurnnenens?

0+t T T T T T T e T
1940 1950 1960 1970

Date of entry to the UK

Figure 2

Analyse the graph and fill in the blanks to complete the notes.

n ‘ These notes will be used later in this chapter to write a full-length Task 1
response.
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~ L-“"
" Time/ftense 1) i,
- Topic (2) imrﬁgmts frm India & Pak and W Indies to Engld.
) General trend Immgn India & Pak and W Indies (3) 1940-60.
- Aftr 1960 immgn frm W Indies (4) . Immgn frm India
- & Pak (5)

Details ' India & Pak W Indies
- 1940-60  (6) 1940-60  (9) 5
; 1960-65  (7) 1960-63  (10)
. 1965-70  (8) 1963-70 (11)
E Conclusion # Indian & Pak immgrnts up to present?
. I
; ne 1 b anned y llﬂ zlnﬂwcr ou are ready Lo write it,
L (LY /:;,f/ 0\ ’//':'\\\‘ YN 0 ‘/;'ilj\ [ .
; TNALL ) F .t H_r Lt
. N—% N/ N4 \N—/ Al NEZANS
; S Task IDEssay lan <)
: «  One sentence to introduce the illustration,
. *+ One or two sentences that demonstrate the relationships between
. the data or show a trend.
y + More in-depth description of the data that expands your general
. statement, S "
. *  One sentence to conclude your writing.
*
}
' Here is an answer to the Practice on page 102.
t -
' Introduction
1
1 (7/!(‘ g!‘(fl)ﬂ !.H (-?—fl.ylfl'(‘ { .S'/;('H'.‘-' ”‘;[' lr('!ﬂ[‘ H"('l'[;l g!'(HIH /I(H'I'{‘.Yf ared llH
) milfions ('/l hectares fetween 193¢ and 1996,
| General statement
i d i d i n i d
f ugu r('uef'(.!l, the I('la[ harvest area increased wntil 1980, at m/u'rfz
: peind—there—wes—ea—reduetion—in—the—earee—hervested —due—i
: !((ll‘ LELATIA LASLLEN ] LLd T i 0
| velvenchnent.
|
]
4
¢
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Description

ryn 19541 (l/;mix‘l g6 miflien /;(’(‘f(ﬂ'{’\' f*/ (jmiu eere [mrr'('?h'r/ u'm'er
Jrr:/ DuunJ I/(' 19308 f/;(’ NSS[I initiated a 71:(11:1 -[(HJ{/\
1mgmm which g)ml/} increased the area haveested to around #3e
Jm'mruu ﬁ(’('[(li't!.\'. Sram this ]min! wntil the mid-1970s the area har-
vested increased s uw[y, with seme /{Hrhfrr.’iriu.v, H{d 'jrr.\'[ orer 700
miflion fectares. Then around 1975 the ])rr'r(’ ﬁf gr(u'u denitled and
this c'mf.w’(/ It} r'(.'lJi(/ meredse .'[w aiternl r*{ [mr(/ devoted to gmin
/)r('(/m:lr'tw wntil 1950, SFrom 1956 16 1995 there was a grm/rfrr[
decrease in the amownt n/ fand nsed ﬁ*r glrfl'JJ allivation, n/f/h’r

this the area harvested agm'u {?(’r/rm o rise.
Conclusion/Summary

‘.9” .wnmmm/. e can see Iﬁal .f/w ared ([t'rr*f(‘tl’ fe (Inm'u [n'r'r/rrr'h'm
[ . . [t
nas aff 'c!cJ [a/ (?(i{ﬁ (/rii'(’rumcnl lm[i{:ll aml umrﬁw‘ [mre.s‘.
) y .
[166 words]

Note: You should not write section headings in your answer fo Task 1 in
: the real IELTS. We have included them here to help you analyse

the structure of the essays.

Language Study, | | [ | -

e am e aes

i; - N7, \ N 7N / —~
; Now we wilklo ; b&am u\ng ua p‘g\‘e J;#:HJ to ;;]lesglhe gra pl)sU U U |
i Look at the g g,mph in Flgme 3. N 1
100 — l
80 — T
|
@ 60 —
. £ |
; o
; 40 - l
'
: 20 I[
{ 0 | T T ] "
{ Jan Feb Mar Apr d
f Months |
i {
Figure 3 Sales of computers, 1995 t
lOGE 1ELTS Preparation and Practice ,
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Here are some notes to describe the graph. : !
_ i

» 1995 — past tense ¥

L

+ Jan—Feb increased slightly
+ Feb-—Mar increased dramatically
+ Mar—Apr decreased moderately

We can write these notes in complete sentences.

Time period Subject of the | Verb to describe | Adverh to describe
sentence change how much change
From January to | sales increased slightly
February
From February to sales rose dramatically
March
A =
rom Marchio (( sales/ derately — — 7
\ y x AR R
Hbr )P\ ‘/2‘1 0 \&

Study the following table,

Verbs to describe T i _ (-
rapidly ;

rise dramatically X

- sharply 3

increase !

i

grow maoderately £

steadlily iE‘ :

gradually %

P

Verbs to describe 4 slightly R

/ slowly P

fall i

- H

decrease 3
decline

The Wfi[ing Test ilO? .




EXERCISE 3

Time target — 10 minutes

" given in each graph. There are sample answers in the Answer Key.

' Look at the graphs and write short sentences Lo describe the information

A: Production of timber

B: Enrclment numbers

1

80 400
60 300
40 -‘-hhh“‘"‘“*-=h___“_ 200
20 100
0 I T T T 1 0 T T T T L
1989 1995 1986 1989 Now
C: Washing machine sales P: Music sales
Type | & 1i 100
800 80 - LP Records
600 Type | 60
400 40
2004 e Type |l 20 - Cassetles
0 | = T 1 1 O T T T 1 T — 1
1989 1995 1970 1985 1995
Figure 4

ok ure: 5 inln Wnsm 1b1n
gm0

he gl'lph, \\reconstm(,tcd our qentt_nces

Subject + verb to descube clnnge + adverb to describe the amount of change

Sales increased slightly
We could also express the same thing this way.

Time period ‘there’ to adjective to noun to
introduce | describe the describe
the subject | amount of change | change -

From January | there wasa | slight increase | in sales.

to February,

From Februaty dramatic rise

to March,

From March maderate {all

to April,

r

IOSI IELTS DPreparation and Practice
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These sentences mean the same but the grammar has changed. The actions
thar were expressed with a verl are now expressed with a noun. Therefore
adjectives are used instead of adverbs to express the amount of change. Being
able to use both forms gives you variety in your sentence structure.

“There’ + article | adjective | noun to describe change | in ‘what’
There is slight increase in sales.
was slow rise
has been a | moderate | growth
will be gradual | fall

dramatic | drop
decrease

decline

EXERCISE 4

[Loo he gr;H;hs\‘in § %
u N

There are sample sentences in the Answer Key.

pl‘lp qau)gmﬂjfgamusmg ﬂ;q’: UV”\‘Y/

N \—

3

Time target — 5 minutes

Describing Trends

Look at the following graph.
12000 —
10000 -

8000

6000 —

Foreign Tourists

4000 —

2000 —

0

i 1 I T T T 1 T 1 T 1
Jan Feb Mar April May June July Aug Sep Oct Nov Dec

Months

Figure 5 Number of tourists visiting a particular country
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' We could start ac January and describe each month from January to
December. However, that would just repeat exactly what the graph shows. It
would not demonstrate your understanding and interpretation of what the

graph shows.
In this situation we need to describe the trends. Look at the following

notes.

» Jan — mid-July # trsts & trad / peak July
+ Jly — Sept # trsts fluctuated
*  Sept — Dec # trsts  trnd / slght ~ Oct

So we could write a description like this.

Fram gamrm'y there was an rrlm'(rr(/ trend in the munfer (l/ teurists and il
reached a ,)mﬁt in jufy hen, fmm jn[ly lo (S(ﬂ,:.fcmﬁer the wuniter v/
lewrists /ﬂf{:hfﬂlﬂ[ From uSq)!emﬁcr lo (’/)ecmuﬁcr there was « dewneard
trend in the muntber nf tenrists with « s(ig’rl rise in October.

Study the graphs and the language in Figures 6 and 7.

. ———There was an upward trend.

160
140 -
0 =
120H  (C = A A AR
\ A o uU |
s Y '~ There-were flugtirations.
i % .
80~ It fluctvated
60 — There was a downward trend.
40 ) - /
20 —
L4 s s e B B e

Figure 6
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It peaked.

It reached a peak.

It reached a plateau.
It levelled off.

It plateaued.

it remained constant.

100 It grew exponentially.
There was an exponential growth.
0 | I
Figure 7

il

ELTS

I\

it e S S e g L

i
H
¥
'

80 —

70
. [ e :

3 50 k
. o :
X g 40 ¢
; 8§ 30 q
5 20 - '
+ i
. 10 ,
b 0 T T T 1T T 1T T 1717 1T 17 T 17T 1T 17 17T T T T T 17T T7TT1T°1
; Months (2-year period)
.
Figure 8 Number of new model cars produced

; .
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EXERCISE 5
Look at the graph on car production (Figure 8) and [ill in the blanks with

a word or a phrase to complete the description.

There was a(n) (1) in car production tor the first three
months. For the next six months the number of cars produced

(2) . Then for five months production (3)

There was a slight (4) over the next seven months before it
(5) for the final three months.

Time target — 3 minutes

Incorporating more data

Now ‘that you know how to describe change you still need to incorporate
more data so that the reader can casily follow the description. Study this
description of Figure 8. Note how more data has been included in the descrip-
tion.

Fer the [ir:s‘! thiee manths car I)r('r/rrr.'h'nn inereased M afout five cars per
nionth o "jrr.\‘! wnder 6 per manth, SThis was an inerease g’{ atoul 35 cars
,Jrri(/ur'm/ ﬁtr the ,J('rim/. Orver the next siv wnenths the manfer o/ cars pre-
diced /ﬂu'!mrh‘({(_q arowd 5t cars per mentth. For a l:c'r'r'm[ v[ ﬁm- manths
/Jl'('r/m'h'(iu remained al rfl)lu‘f'.t‘iui'rn'(‘ﬁ/ jrm( orer A0 cars per month. Jhere
s ﬁ[il(/ﬁ[ H,m'(n‘(/ trend /r‘u' the next seren menths o a IJ(’H‘[' (.[ m’rufl}

S0 cars Imw/m‘c’rl ]’f"' HH'HIﬁ ﬁ(’ﬁ'?‘(’ lml(lm'!r'mr (/(’r'mu.s'er/ m/n}/[_rl ﬁ; uﬁnul A

A

7 m(’fnmrdg/ fo Hrrmﬂn/ I, ear: ]{9)%;\(51(9/4\{7
N~ // ( \ [ \\ [
~ ) L )
) \ / DAY/

~ v Ll ey N— - -
Udy e preposiions mn I'igure 9 )e[( W, o/

at
10 from ... 10 10
8 8 8 b
_ ¥
6 6 8 of
41 .. to T a at 4-
2 2 2
0 T i g 0 T T 1 0 T ; i
It decreased from 10 to 2. It started at 2. There was a drop of 8.
It peaked at 10. It dropped by 8.

It finished at 2.

Figure 9
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When the graph does not show precise data, use words to express

approximation.

By

|

i
3
4

10

Just roughly
] under
Well nearly .
"approximately
Just around
:I over
Well about
EXERCISE 6

Fill in the blanks using the correct preposition. Check your answers in the
Answer Key.

Time target — 5 minutes

There was an increase just over 50 thousand people.
Et: fi[-sj decade Iﬁé[ pHpuHﬂiol remained stea . approxi—
11 V) (4 (1 | | | = Tk ¥ )
‘ illion./ —/ o Y ‘\‘;/H \ 4‘ Al g “\t‘s,;/;' \\t‘z:;,/y

Unemployment fell

just over 500 000 people.

Violence in the city peaked about 1500 deaths per 10 000

people.

After an initial increase, the city’s pollution levels remained constant
5 ppin.

The crime rate increased rapidly well over 500 incidents per

night.

The population is expected to grow exponentiatly over the next few
years and then peak 20 billion people.

For the next few months computer prices are expectéd to drop _
50% in spite of a predicted price increase in basic electrical goods

25%.
The production of goods is predicted to linish the year 500
units per day. ) '
Production began ___ 50 units per day and rose “about 20 units
per day to end the month well over 600 units.

\L e e e,

Y SRS
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Sentence subjects

When describing change, it is meortam to be clear about what is changing.
For example, the topic is ‘cars’. We cannot say ‘cars increased’ but ‘the
number of cars increased’, or to avoid repetition, we can say 'car numbers

increased’.

Study the language below.

Topic “The’ + measurable quantity + Alternatives
‘of’ +topic
Computers (The) sales of computers Computer sales
Migrants The number of migrants Migrant numbers
| ’ Land The area of land Land area
Timber (The) production of timber Timber production
Crime (The) level{s) of crime Crime levels
EXERCISE 7

Time target — 3 minutes

Complete Lhis table.

Topic “The’ + measurable quantity + | Alternatives
‘of’ +topic
(1 , The area of land a )

N\ /7
M JH\

1‘ Inwmmﬁé qﬁ;tﬂ J

Unemployment (S)k _

The salaries of females Female salaries

2‘ 7N

Time periods

Look at this sentence.
From January to February, there was a slight increase in sales.

We could also say the same thing this way.

Time period Sentence

For one month, there was a slight increase in sales

For a period of one month,

QOver the next month,

L . ot LA AT 2 s L o £

: During the next month,

: 114I IELTS Preparation and Practice
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The description of Figure 8 in the section for incorporating data and
the description in the Practice on page 112 give more examples of time
expressions.

Review

In this section you have learnt how to:
v write abbreviated notes to plan your essay
¢ describe change using different sentence constructions.

This includes the language for:

+ describing trends

+ describing increase and decrease

+ incorporating data

* using approximations .

+ writing appropriate and varied sentence subjects
« writing about varied time periods,

EXERCISE 8

From your notes in Exercise 2 (page 104), complete the following Task 1
exercise. The introduction and conclusion have been written for you.

There is a sample answer in the Answer Key.

Time target — 10 minutes

The graph shows the number of West Indians and Indians
and Pakistanis immigrating to the UK from before 1940 to
1970.

i

As can be seen, immigration of both West Indians and
Indians and Pakistanis increased rapidly over a twenty-year
period. After 1960 the number of West Indian immigrants
decreased rapidly whercas the number of Indian and
Pukistani immigrants continued to increase.

Write a detailed description of approximately 90 words.
Write on u separate piece of paper.

In conclusion, it is possible to speculate that immigration

fromIndiaand Pakistan mav have continued-{oincrease un
HFom-HhdaandFadistannmay Have CoRHAHC OO HHCICEsC L

P

to the present day, whereas West Indian immigration may
have continued to decrease.

The Writing Test I 115
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Describing Charls

Practice

The approach to writing a description of a chart is similar to writing a descrip-
tion of a graph. Ouly the language used is different.

the charts below.

You should spend about 20 minutes on this task.

It is often claimed that women have achieved greater freedom and
have access to the same opportunities as men. The pie charts below
show some employment patterns in Great Britain.

Write a report for a university lecturer describing the information in

You should write at least 150 words.

Females

—

Manual

[ Craft or similar

M General labourers
O Other manual

Non-manual

[7] Managerial and professional
Clerical and relaled

B Other non-manual

Figure 10

llﬁg IELTS Preparation and Practice
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Here are some notes made during the planning stage of the essay.

Time/tense None given — present simple tense
Topic Emplymnt %% & 4

-General trend Mngrl & prof, craft < &, clrel @ > &,
othrmnl ¥ =

Details Non-mnl —clrel £, mngrl & prof d’, other $
Mal ~ most crft &, gen lab &, other & = ¢

Explanation
< = less/fewer than

> = morefgreater than
¢ = females/women

6 = males/men

Here is a sample answer to this Practice for Task 1.

7/« firn ])1'0 ('ﬁnrf.s- .9/jr'arr !/ré /:m et (v/ mufa\' um/ /oma[c.v i

ol :fm/m T bread ca ’qm'f’\: divided f:r!;i;]mrurmr[ and non-

$ an H H ol | i Glae NG T

\ ey SR 3 e {1/ s il e dn i > ( | [ (
gt ey s, S general. (‘”Wﬂ/mfﬂjwc f {{(l(il({ﬂU H
- ) N S LN = N N
werk - mmFrﬂr‘(ﬂ)( it thent rmgjfﬁn maal erclipaliens,

(TH({ [/f(’ reverse Is frue ﬁij' Hien,

I the won-mamal m'('u]ml{mrx, whife a qrealer percentuge (*/
rr!m'[:irffl wowen than men are [mm([ m cfcrimﬂ.fy])e l)(i.s'r'h'(ru.s', there
is a smalfer Jrereendage n/ wanen then nen rm/;[}nym/ in Hendge-
vial and I)rri/}.vsr'mmf Irr'.\'r'lirins. e Pvrr‘entugv nf watnen c'ml)[ﬁyv(/
i ather nen-manial m'rulmlinm is s[rgﬁ!/l/ f:fu"r/('r' than the per-

r'eumge n/ men in these ri('m/Jcr[inu.s'.

e manial engoynend, e biggest differonce eliween he liee
9 f /f f f !f [ 49 ¢ dh [ I/ f
Seres 18 e I/w ('m])/}uymwr.f n/ r'mfl u-m‘ﬁ-cr.\-, wﬁm’ males mafe p

21% of the wm'ﬂ"ﬂ'r{‘e and f(’ma{r’s /'rr.\'! 4.5%. g‘m'!/r('rmm'e. the
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Pen'mrlare (If wemien working as gmmm[ labervers is rery .s'nm[[,

(‘H[f] 5%, Slhere is net a 9:'(’(“‘ deal 0[ r/r'[f(’rt'm'e betiveon the
/.

[""":"”"”ﬂ" rif nien r[m'm Mﬁr'r ﬁu'nr.\- n/ nmmm( wm'f' (:’\""4-) mu[

woeien i m‘fn'r mmum[ H‘(il'ﬁi (-?2_%).

nyu rnm'[u.w'ma, ffie {1 (:f;m'[.s' (.'[(’ar[y .\'[Mtl‘ !/mi 1olnen ([n I I‘iru'e

fﬂe sainte daeeess as et e cerfain !w)('s r'/ rm}:fr'r/uwu!.

(192 words]
EXERCISE 9
Write notes for Figure 11.
There are sample notes in the Answer Key.
Time target — 5 minutes
Males Females
9%
M Arrested m Arrested

{J Not arrested O Not arrested

\—

)\ =

Reasons for most recent arrest (%)

No answer | |

Other reasons
Thett .

Assault [ Females
Breach of order M Males
Public drinking —
Drink driving
[
0 5 10 i5 20 25 30 35 40

Figure 11 Persons arrested in past five years -
reasons for most recent arrest, 1994
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Language of Comparison

Look at this pie chart.

56.11%

Figure 12 Car colours

3.12%

28.05%

12.72%

[Tl Blue
Red

[ White
B Other

When describing charts, the language of comparison is used.

e Describing just one part of the chart

The

most popular

car colour

is whi

te.

secand most common colour is red.

e Comparing two parts of the pie chart

g ey ey rrary ek Siliion Banes ande s ot |

B e BT

e

I s (e antially g wiC
antially —mpre.comt JT, . -
ably O dEshantl [
N g (.@J:cr\/b YD —/ NN 4 “\:r//\‘;lw‘l%n\\‘i;‘ =
a lot less populat’
far
much
somewhat
significantly
slightly
fractionally
s Or
White is about rwice as common as red.
three times popular

The Writing Test
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Note: We cannor say, ‘The least popular colour is other’. *Other' is not a
colour but means all the other colours not mentiened here.

We can also interpret the chart and say, ‘People buy more white cars than

red cars'.

But be careful. It is better not to say, ‘People prefer buying white cars to

blue cars'.

We cannot tell from the chart whether buyers have a restricted range of
colours to choose from. Buyers may choose a colour based on availability

rather than preference.

EXERCISE 10

Time target — 5 minutes for each chart

Look at the following charts in Figures 13 and {4 and write a simple

description of each.

Crime (cases per 10000 people) Employment
100 94 24 .58%

80 — 65

7 (] Full-time
40 — 19.24% . Part-time

0 Casval
[ H o
Figure 13 Figure 14

Lock at Figure 12 and study these examples.

White, which is 56.11%, is considerahly more common than blue,

which makes up 12.72%.

Red, which constitutes 28.05%, is about twice as popular as blue,

which is 12.72%.

The other colours, which constitute 3.12%, are considerably less

popular than blue (12.72%).

There are two ways of incorporating data: by using

brackets (

)

* a relative clause (which + appropriate verb: is, makes up, constitutes,
‘accounts for).
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EXERCISE 11

Look at the charts in Figures 13 and 14 and rewrile your sentences Lo
include data.

Time target — 3 minutes per chart

Writing introductory sentences
Look at these examples.

The graph in Figure 1 shows the total grain harvest area in millions of
hectares between 1950 and 1996.

The two pie charts show the proportion of males and females in employ-
ment in 6 broad categories.

To write an introductory sentence, use your own words. If you copy the title
of an illustration or the question word for word, the examiner will regard this
as plagiarism and ignore the sentence. This could affect your Task 1 band
score.

Type of chart Appropriate verb Description

The illustration shows the number of ...
graph illustrates the proportion of ...
pie chart presents information on ...
batr chart data on ...
table

~

m \Cl'ldl
~ //
N \\ //

The two pie charts show the proportion of mqles fmd females in employ-
ment in 6 broad categories

2

The two pie charts give the proportion of men and women employed in
6 broad areas

Or, change the structure.

Example

The two pie charts show the proportion of males and females in employ-
ment in 6 broad categories.

4

The two pie charts show, in 6 broad categories, the proportion of males
and females in employment.
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You could change the way you express the time period.

Example

The graph in Figure 1 shows the total grain harvest arca in millions of -

hectares berween 1950 and 1996.
{

The graph in Figute 1 shows the total grain harvest area in millions of
hectares over a 36-year period.

EXERCISE 12

Look at Figure l I and write a simple introductory sentence. Then, using
your notes, write a full answer to the task. Write on a separate picce of

paper.
Time target — 20 minutes

Review

In this section you have learnt how to:

v describe charts by using the language of comparison
v incorporate statistical data

v write sentences to introduce the illustration.

Describing Tables

ibing tablas is ws“’mtlfl;;

n and co as{qre (

considerable amounts of data.

When describing tables:

¢ do not describe all the data presented

e look for significant data; e.g. the highest, the lowest, etc.

e try and group the clata. This may require you to use soine general knowl-
edge of the world, such as recognising developed and developing
countries.

o

Hesc lbm _chatts. The. sa (str uCtures ¢ of com-
The ¢ st d llengmg Als cfcfs deallix g\wmh

\:,/ — =

/‘ID\ )\

Practice

You should spend about 20 minutes on this task.

The following table gives statistics showing the aspects of quality of
life in five countries.

Write a report for a university lecturer describing the information in
the table below.

You should write at least 150 words.
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Country GNP per head | Daily calorie Life expectancy Infant mortality
(1982: supply per at birth rates (per 1000
US dollars) head (years) live births)
Bangladesh 140 1877 40 132
Bolivia 570 2086 50 124
] Egypt 690 2950 56 97
Indonesia 580 2296 49 87
g USA 13 160 3652 74 12

Figure 15 Selected statistics showing aspects of the quality of life
in 5 countries

Here are some notes made during the planning stage.

Time/tense 1982 — past t

f Topic stnd livg 5 cntrys

‘ 3~ General comment USA (Indstr]) > Other Count.(Devg)
Details Qual of L: Egy = Indo = Bol

Egy highest, Bang lowest

{ N ut Indo 1 1< Egy B
- g NN AN /
; \ ‘ E L D)L AP/ P ang: USA || ()

GNB: 17100
| \
[ : Cal & Life exp: ;—
IMR 10 %
A ;
:f Conclusion Oth count must devel lot more = USA
Explanation
> = greater than
< = less than
- IMR = infant mortality rate
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Here is a sample answer.

e table uses lfém' broad economic indicatars to sho the standwrd
(ff [f't'ing il ﬁ've selected comntries in 1952,

e ds can te seen. the USe A — an industriafised ('r'uniry — had
the /;ig[re.vi GNP and (/rn'fy caforte fuira/;'e, the fc'ugt'x! [r/¢
(’.rl)ec'mmry fm(/ !fre [(W"(’S! inﬂm! mr'r!a[i!y refe. (7/" r*![wr (l(’l'(.’f(* -

r'ny coimtries had a cnusif/emﬁy fower 7“‘1{“.’/ nf frf('

((-'-n‘[c]y/J!, Sndenesia and Bulivia were simitar o their yange rn[ nreli-
catrs, with ggw)t fam:r'uy the ﬁigﬁes! (lrmfiiy ('/ [J/( antagst the
three. Jmvever. ((DgWJ!S' in/rurl mmmfily rate 1vas sﬁqﬁ![y ﬁig/mr
than cgn(/oue.w'u.;, al 97 deaths per neo mmlmrer[ le 87

L Snonesia.
, (Bangfa(/esﬁ frad ﬁy /m' the forest rlurr[i.’y r.'f ftfc in all the [mn‘

indicators, Sts GNP was one hundred times smaller than the
USeAs. His calorie intake and [afe e.rfmr:!mmy were abont fm[[

these m the USeA and its infant nmrfn(i'h] rale was I times

grmler:

%1 (‘m.'('frrs‘inn it can [e seen fmm .'/1(’ CeeNenie r'nrlr'(‘(rfm'? f/ml f/w

("HJ ((’iC[(*]Hilg connliries [(H(‘ fe (I(’l(’{}]) a {(‘! Hiere [(f\”i@ HL(H[H”J

s the U S .
ELTSZU blogfe

EXERCISE 13

Tiime target — 5 minutes

The following table shows the average incomes of scientists employed by
the National Institute of Health (NIH).

Write notes for this table. Alternatively, you can circle, underline or high-
light points you would group together when writing your response.
Remember, you can write on the question paper. There is no Answer Key
for this exercise.

124I [ELTS Preparation and Pracrice




Position Male (number) | Female (number) | Difference
Total MD $89 219 (483) | $ 85274 (71) | -$ 3945

. Total PhD> $74024 (473) | $ 64903 (118) | -$ 9121
Lab chief MD $95 185 (138) | $105696  (7) +$10 509
Lab Chief PhD $89827 (78) | $ 89484 (2) -$ 197
Section Chief MD | $89 653 (157) | $ 86022 (21) | -$ 3631
Section Chief PhD | $76 819 (140) | $ 73570 (31) | -$% 3247
Investigator MD $83249 (177) | $ 81585 (43) | -$ 16064
Investigator PhD | $67 131 (251) | § 61 164 (85) -$ 5972
Staff fellow PhD | $34 642 (14) { $ 31888 (9 | -$ 2794

Figure 16 Pay of NIH scientists by gender

Grouping Data

EXERCISE 14

Time target — 5 minutes

Look at the following table and determine:

a how you would group the data

b what significant data points you would describe.
@pﬂt T ( ‘@Ti\ mﬂnﬂ' ()ﬂStu&€1}§s; M Hﬁﬂﬁpﬁpﬂj}t pe} month‘ ‘
Swimming 56 35
Football 180 15
Cricket 109 20
Athletics 45 40
Golf 25 35
Baseball 110 23
Tennis 56 30

Figure 17
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Writing Conclusions

To signal your conclusion you can use the terms it the box.

Expression What to write

In summary, ... Express the main point of the illustration again

To sum up, ... in your own words.

In conclusion, ... | Say something new that does not extend too far
beyond what the illustration shows. You can

To conclude, ... mention future implications, or draw a conclusion
as in the sample answer to Exercise 12.

Look at these examples.

Example 1 refers to Figure 1 in the Practice section on page 102.
cgi! .s‘rmmmry. we can see t/;a! lﬂc area ([Cl‘ﬁf(’([ o grru'n Inn(lmﬁnu was

a//ecle([ fyﬂn!ﬁ gnvemmeu{ ]Jof{ry am[ mar[‘e! ftrr(:es.

As the graph has no distinct overall trend, we cannot predict what ‘may
happen in the future'.

Here we need some knowledge of the real world to realise that the USSR
Virgin Lands Program was a government policy and retrenchment and doub-
ling of World Grain prices were related to market forces.

Example 2 refers to Figure 10 in Practice 7.

¢,‘g” r'mmﬁmf{m, Iﬁe {ivo cf;m-(.s cl’éar[y .s‘ﬂnw Iﬁat HOIHCH r{(! nol /mr.'e !frc

: rtﬂin ﬂﬁsi{{ ns o eml:[rnyngeui./?l

VAN N —) N N AV
AL U 1 al u‘u |
is-a-response to'the opefting statement that*women’. .. -ha
access to the same opportunities as men’.

N

Example 3 refers to Figure 15 in Practice 8.
In cnm.‘[u.s‘iou, it can fe seen that fmm the ecencanic fm[r}:(tf:?r:s', the /(-m'

(/(’r't’fnln'ng cornivies have to (/evefnl) a fot mere f;l’fm'c rear ring the same

fevel nf (lrmﬁ'ty nf fi{e as the USeA.

Here you have to have some knowledge of the fact that there is one devel-
oped country and three developing countries represented in the table. This
conclusion summarises the information by stating the obvious disparity
between the developed and developing countries.
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Review

In this section you have learnt how to:
¢/ determine significant data points in a table
v write conclusions.

EXERCISE 15
Time target — 15 minutes

Here are the complete instructions for Figure 16 in Exercise 13. Write a
full response to the task. Write on a separate piece of paper.

You should spend about 20 minutes on this task.

The table below shows the average incomes of scientists employed
by the National Institute of Health (NIH).

Write a report for a university lecturer describing the information in
the table below.

You should write at least 150 words.

Process Description

These questions rarely appear on the [ELTS Test. They are different to other
types of questions because:
* the language is different

ey ycfﬁfffa ﬂ yHo stcri ey expane and lir
1e illustration/~'L || ) L)
N \— O L/ \N— | |

You should spend about 20 minutes on this task.

[ )
(( \\_7 \\//
NS O\

rg Eﬁ im p’eﬁimﬂf\snﬁéﬁf’

Ml

Practice

Scientists and engineers are continuing to look for new ways to
generate electricity. The following is a diagram of how electricity
niay be generated from tidal flow.

Write a report for a university lecturer that describes the diagram.

You should write at leas-t 150 words
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Main barrage structure  Sluice gates to

e control flow
SN
NE

Inland bay or estuary

Electricity generator

‘Figure 18

This is how the essay might be planned

Topic o Elcty gentd fr H,0 pow

Stages ~ Main const + 1d
Sluice gate open

H,O fr incmg tide pass genr

2% N

Elcty gentd
EoHc]usiHn @ 1% Hertﬂem p§ ic| I tite tid llgk Mia)
I — E— - [} : M% ST R T S — AF"d‘jF\‘ ,/\L O — u‘ ‘ ‘

'\fj:j/
Here is a sample answer to the question.

7/re ({m(]mm 9/!0109 fmr' (’((’rmrlfy cdn fe Szmﬂato([ /rrm mmg
aur[ [ [{m? ia({e

o strnehie which hases tofines is fuilt acress « [m/ o Selie-
where H'ﬁmc d [mqe {vrll/ ('[ water can fe rnn{amm’ f/w siruchire
can alse fhave a mrr/u!ay farilr en h/; of t, thits jrrer rr/urg dal ser-
-~ vices. hen the water level en one side r'/ the structure is '”,‘/”'/"
f'r'mr.ffy ﬁf{/ﬁt’r than the other side, ie. at /m/fl tide or at loe tide,
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ife sﬂric'e (]ales‘ are npeum’ {o a[[mv f[rc' water o ﬂmn ﬁ7fw tealer
])(IS'SCS' ffumrgfr !mme[v where !fm genem{mc dre fmme([ cum’ ranses

ifcwr le slmi qﬁn creafes (’/uhru!rf T urf: I Iﬂt'u /m:m’nu/
/m' Y

n cmac[n.w'on-, a[tﬁnugﬁ this methed is a elean and ]Jer/)ehmf seHrce
(i/ energt, it appears to te rather iru’[fi(.‘fen! as i is (/(JI)('ur/chl o

the tidal ttﬁanrge.s, which fave a rather sfow f'yr'/('.
4 : : {143 words]

Language Study

Describing how something works often requires us to use the passive voice in
the present tense. '

N o O _Th_é preSent simple passive

' Subject is/are past participle (by agent)
’ The handle is turned by the operator.
. ;r
i ' Analysis

Read the following short paragraph on how rice is grown and determine why
some sentences are in the passive and some are in the active. Analyse how
the stages are linked together.

&l se@d m s |grow for about 6 w k@
field. \Tﬁ l'mfs SR trd aed ¢
about 5 months the rice is fmally harvested.

ﬂooded dgn, the rice seeds are

EXERCISE 16

Time target — 20 minutes

A lot of administrative work is done after the IELTS Test. Below is a
i ' chart of what happens to the candidate’s IELTS Test after the test
has been completed.

Describe the chart.

You should write at least 150 words.
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Reading & Listening
collected

Marked
by administrator

Speaking test
completed

Assessed
by examiner

Writing teslt
collected

Marked
by examiner

Interview tape
sent fo examination
board

Marks
sent to administrator

Wiriling answer paper
sent 1o examination

Marks
sent to administrator

board

Stored

] | Reassessed

Stored ] |Reassessed

Figure 19

Marks
coliated by
administrator and
certificate made out

q

r 'tiHale ‘ ‘

.

Y= gdntto— O

candidate
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How Task | is Assessed

The examiner reads your answer and awards a band score of between | {did
not answer the question) and 9 (native speaker-like) under three categories.
s Task fulfilment {(TF)
The examiner determines whether you answered the question or not.
¢  (Coherence and cohesion (CC) '
The examiner determines whether you have written an essay that is
easily understood and is well organised.
¢ Vocabulary and sentence structure (VSS)
The examiner determines whether your vocabulary is appropriate and
your sentence structure has variety and accuracy.

The band scores are then added together, divided by 3 and rounded to deter-
mine your band score for this task.

For example: TF = 5
CC . = 6
VSS = 6
. Qverallband = 6

Discussion of Sample Essays

Sample 1

The graphs below show information on the production of consumer
goods and the consumption of television sets in Russia.

Write a report for a university lecturer describing the information in
o

g ap T[@W / H H E H N A
! R TZa] i e i)
dd \writea std50 words.) ||\ ]

Consumer goods

130 - e
120 -}
o d TN
100 - ae e N
90 | N
80 e
70

1 T Y 1 0
1981 92 93 94 95

Production, 1985 = 100 ~—-——— Production, million (left-hand scale)
Import penelration, % (right-hand scate}

Figure 20
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This how a student might have answered this task.
fmc r]m])/rs I)r'(’S('HI r'u/(lrnmlit*n on !ﬁe mmrﬂcr (-f 7[ sels flll])(’r'f(’{/
am{ ﬁturyfnf (mr! Iﬁc' m.'cm” ]Jrr'(/m'{ir'u rif copstner ymw[s‘ i (‘II)H.‘\'.\'I'H i

lfm f ast (I(’(.'afle.

he !n'ﬁn’mrtinu nf constiiter gnﬁ([\' in 1985 stood at see million, hen
there was a v{qun’ decrease and then a .s'tcfm{y vise lo reach rr])lu'('.ri-
maie{y 125 million g(m({s 1990, c/f){i‘er this lumk the I)rr'n({m'fr’un ///
sﬁm"p{’y lte 70 .mff[imr gnn(ls' in 1994,

) he ]Jm(lm:!imr of U sets in 1991 was u})l)m.rinrafefy g0 mittlien.
Then television Inm{m:limr f oA .s’fm(li[y, c.r('el)t [m' a s[;r/[nf rise in 1993,
to around 20 million T sets i 199, The pereentage n[ JU sets

increased /rom % o jus! over 4% in 1995, Shhis was «a Sfear[y rise.

I C('Jrf.‘[ﬂ.&‘iﬂil, the ([m]) i consiier gﬂn(ls was die to the econamic

({i[fiarffies in Russia.
[134 words]
COMMENT

This essay is reasonably successful because:

o the details are neatly complete (the comments made on each graph line
are brief and reasonably accurate)

e it is well organised

ne arealsoeasy tounderstand ¢
EEnte es ﬁre\wgﬁ%d and|acc rafﬁ;j\rﬂ(/m\ ‘/‘\‘ j_r/; ‘{/“;:\ /’;;:\“\\‘ grjg N
L a ) | . \ /| \ /) \ | / (] Al (| /)
. it didn’tquite answer the task. Although the-details are com-

plete, there is no general statement to mention ‘how the graphs related to
each other, i.e. ‘Consumer production decreased which affected TV produc-
tion. In contrast, there was an increase in the number of imported TV sets.’

Also, the conclusion is inaccurate. The language used is too definite. There
may have been other causes of the changes in the graph, i.e. “The drop in con-
sumer production was possibly due to...'
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Sample 2

You should spend about 20 minutes on this task.

Many women want or need to continue working even after they have
chitdren. The charts below show the working patterns of mothers
with young children to care for.

Write a report for a university lecturer describing the information in
the charts below.

You should write at least 150 words.

Youngest dependent child 0-2 years Youngest dependent child 3-4 years

19%
. 11%

o,
% ab%

54%
70%

Youngest dependent child 5-9 years Youngest dependent child 10 years+
14% 29%

// ) ':'\
mgﬂart l’l}ne H ([ )]
orkmgmllltl g L

Figure 21 Working patterns of mothers with young children, Great
Britain
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Here is how a student might have answered this task.

An Great Britain, there are wany 1wemen who want ar need to

confhe uw[‘in(l eren (r/h'r ![it'y frave children. Jhe ﬁlrrr charts
;

shewe the u'm'ﬁ'iu(] [mHvrn.-.' u{ m(af/mrs with ljerng children 1o

'edke /r'r.

ot fh:s'.', methers with their almn.vgc’.v.f r[t'l:mr(lmrl child (rr](’(l (i—2
fears, there is H% eonten H'nrﬂ'irrg /u”—fr’me and 1% rwonten

”.-n;-ﬁ-im}v [J(H'I time. “Hhe wemen whe are nol u,ﬂf*rﬂ‘im/ s A%,
! !

e mr-!fmr:s' H'ilﬁ yrwnges! ([elmnffcwf r'/ri{cl ayer/ [(’m.'emr 3 o 4
tfears. n[mm‘! /m// vf ffrem not ir'm'ﬁ'. (%me 5 6% women wnrﬁ'inrj
]mrl tine and the women whe are usm'/:'in:] frt{f e s H%, S

Herease,

gfrmr, Iﬁc mciffrer:s' wifﬂ ymurge.vf ({(’]Jem[ent c:/rif({ ﬂyc({ ﬁe!u‘e(’u —9
years 38% "f them are net r(.‘m'{'ing. Shere is 45% women m(?rﬂ‘ing
Imrl time and the wemen who are wm‘f‘hrg /uf[ tinte is 145 Hhe
nber r'/ HoIeil u!m'/:'ing fu[[ time 1was increase in this chart and
the HH‘H!{:(’F n[ mm‘ﬁing [J(H'! tiine icrease 13% [mm r:[iarf 2 mm’

increase 29% fnuu chart 1.

girm[frl. the chart 4 Sfrmfrc(/ that the mether with rlelfeurlem' child

: ﬂf]rr[ in ijrs ﬁa.s‘ !/m ﬁi(ﬂes! ])(’rcc'ulm](’ umnﬁc'r‘. gfwm s 45%

en rﬂ;ﬁi‘i, 1

El L . "'\\J f//
62 wo

COMMENT

: part foe

| {fine ﬂ;([ ;
/ i)
ote? The

first 2 sen

N

N

This essay has a few problems because:

e the sentences are not varied and there are some grammatical errors {Each
paragraph is basically expressed the same way.)

e it is not very well organised (The overall structure of the essay is good.
However, the details within each paragraph are not consistent: e.g. ‘from
largest percentage to smallest percentage’ or ‘from women not working to
women working full time'".) _

e some of it is not very easy to understand (The writer tried to mention the
changes from chart to chart. It would have been easier to do this as a
general statement.) '

However, the writer has tried to answer the question and most details were
reported.
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Sample 3

You should spend about 20 minutes on this task.

Housing is a basic human need and is important (o the economy of a

country. Below is a table of a survey on iypes of housing in

Australia.

Describe the information in the table.

You should write at least 150 words.

Separate Semi-detached/ Flat/unit/ Other | Total ]
house row or apartment
terrace house/
town house
New South Wales 1705.3 (76%) 1834 (8%) 343.9 (16%) 4.6 |2237.2
Victoria 1344.8 (81%) 98.8 (6%) 212.7 (13%) 1.3 1657.6
Queensland 985.0 (82%) 54.9 (5%) 150.7 (13%) 34 1194.1
South Australia 457.0 (78%) 93.0 (16%) 354 (6%) 2.5 5879
Western Ausiralia 521.3 (82%) 71.1 (1 1%) 451 (7%) il 640.7
Tasmania 155.3 (85%) 9.7 (5%) 17.7 (10%) 0.5 183.3
Northern Territ_ory 42.0 (63%) 6.4 (10%) 16.6 (25%) 14 66.5
Australian Capital 89.9 (82%) 10.4 (9%) 10.3 (9%) - 110.6
Territory
Australia’ 0.7 - 8% 32.5(12% 16.8 (66779
‘ : 5%31 F (7%‘[@ [ f:,; J H ( O)H | ’—ﬁ - ’(;\‘ J)L] L 1
Y Figure'22 ‘Numtperuf;ehmgs Vi State%Tbgwmety, ng}, H ) \‘4‘ ‘ Uﬂ O ‘\‘ ;‘\‘ ‘/‘ U U H
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Here is how a student might have answered the task.

g(mrsiuy salisfi(’.s‘ the essential human needs /m' shefter serm'i!rf
and /u'r'mr'y. fyn!w'nrm‘r'ua[{y. shelter is revequised as a tasic fuoman
J'i_(I/r.f, She m/c’r/mu'y or othervise ri/ ﬂmm'ny is !/icrr/rw an im[mrn
lant component n/ individual n.'emeing. (¢ nu.w'ng afse has an enor-
nons .w"rjnfﬁr'mu'v in the natienal ccanomy, with its r'uﬂm'm'c' o

eestinent fere/?v, itterest rales, ﬁui[(/iug ar:liui!y and wn/)[nymeui.

e table shows that the se,ramle fonse was the mest /)almfm‘ ly'ue
(-[ (/ra'c’m'ng i ecdustalia in 1990, which made np 9% 0[ all dwell-
r'ng.s‘. Shsmania fad the fu’gﬂes! ])r'n,)f’i"ﬁ(’" n[ separale fiauses ( -5‘5"‘«.)
mm’ [/:e nm'!ﬁm'u ier'rifm'y Iﬂe fowe.vi (6'3"‘«). (/J” ﬁlﬁer (Slafe.s' au({

the ~Austraftan E)al)r'!a[ ﬂll'r'ilm'y tere in the range of 76 fa §2%.

Hats or rl/)arfmenh were i the nert imost CONRON !r/lJ(’ 0[ dell-
mqs Sheelre per cent r'/ c/we{[m‘/v in eAustralia were 0/ this t/mrgn
Senth custralia (f") and (Cestern o/lns!m(m ( ) fad re[atrve/;/
foue perceilages 0/’ ﬂ;:ls ar apartments. The Nerthern YT]erritm‘y with
25% had the ﬂi{]ﬂest ]n'ﬂ[mrh'mr 0/ /frzfs or apartinents.

| [160 words]

COMMENT

his es has ome problc be aus DN )

o of it (Lot,aml.r r\thg ue, tmn he ﬁirq uog Lsﬁoo l;)Qgtgnu U
irrelevant.) - =/

* some important details are missing (One column of the table was not

mentioned.)

However, it is well organised and easy to understand, and the sentences are
accurate and varied.
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Task 2

Writing Task 2 is different from Task [ becausc:

* vyou are writing for an educared non-specialist audience and not a univer-
. sity lecturer. Therefore your language need not be as formal

* you are expected to give your opinion

¢ you have to write 250 words in 40 minutes instead of 150 in 20 minutes.

Before writing your answer you should spend five minutes planning. These are
‘ steps that you should go through.
' ¢ Read the questions and the instructions carefully.
: * Analyse the topic and the focus.
' *  Decide what you think about the questlon
X e Brainstorm ideas to be used in your answer.
x ¢ Fit these ideas into an essay plan divided into paragraphs.
' Begin writing your introduction.

Topic/Focus

Present a written argument or case to an educated non-specialist
audience on the following statement.

The imernet will bring about a new freedom of information and so
narrow the technology gap between developed and developing
countries.

In the question above the topic is the internet. We know this because the

et i ubject ofth 1tenge. However this does not mean that the
E ﬂir@m ts you\to//\ riﬁ down vew lpg‘ygukl ab(iut qhe q’itemﬂ '8
he-seéntetice focuses the )plC”CO\Il’I ternet’s efféct. eU U

{reedom of 111form'1t1011 and on the possibility of it nauowmg the technology

gap. The question asks you to ‘write an argument or case’ which means that
you must argue for or against the statement.

o =

Therefore the question is:

Will the internet bring about a new freedom of information and wifl
this freedom of information narrow the technology gap?

Another way of analysing a question is to underline key words, as in the
question below.

Due to the increase in_unemployment in many countries, companics
are heginning to retire their employees early. This leads to a loss of
valuable expertise. At what age do you think people should retive?

The topic of this essay is the actual question: At what age should
people retire? The focus is: Companies lose valuable expertise by retiring
employees early.
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EXERCISE 17
Time target — 5 minules

Look at the sample Task 2 questions below and write down the actual

queslion you are being asked.

1

As public safery is of the highest importance, it is often necessary to
test new products on animals. It is better for a few animals to suffer
than for human life 1o be placed at risk by untested products.

Write a report [or an educated non-specialist audicnce for or against
the above.

If countries are serious about solving traffic problems, they should tax
private cars very heavily and use the money to provide free or very
cheap rail ravel.

To what extent do you agree with the above?
The quality of health care a person receives should not depend on the

size of their bank balance. The government is responsible for provid-
ing a high level of health care for ail its citizens.

To what extent do you agree or disagree with the above statement?

EXERCISE 18

Look at the three Task 2 questions below. The topic is the same. How is
the focus different?

onen dgive u lﬂeirﬂ'obs i o/[zac'fg,jg thieir traditional role
Ny J,,’/ ) (7 ) N IZ2) N S~ Y
of home-maker inorder to 1 rdice wo (jim.'wmp{}; e tﬁ.‘ (i \ U \
N \— 0 AN/ N/ \ N

N/ A

- G O\

Write a report for an educated non-specialistaudience for or against
the above,

One solution to the decline in moral vaiues in today's world would be
for men and women to return to their traditional roles.

" Write a report for an educated non-specialist audience for or against

the above.

Women will play an increasingly important role in the workplace of
the future.

To what extent do you agree with the above?
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Brainstorming

Present a wrilten argument or case o an educaled non-specialist
audience on the following statement.

The internet will bring about a new freedom of information and so
narvow the technology gap between developed and developing
countries.

Brainstorming is when you think of as many ideas on a subject as possible. For
example, for the question above, you might come up with ideas like these.

Wortld-wide communication possible.

Greater access to information.

Only the rich can afford access to the internet.

Computing skills are necessary to operate the internet so new technology
gap developing.

Makes the copyright laws hard to enforce so difficult to keep rechnology
secret.

Difficult ta censor.

Alter you have thought of as many ideas as possible you should organise them.

One way of organising your ideas is to divide them into ideas for and against
the statenient.

EXERCISE 19

Time target — 3 minutes

Put the ideas dbove into the table divided into ‘for’ and *against’.

=L mﬁﬁ

H HH \
—/ \—/ \\

) ([
HIWS\K N // \—/
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EXERCISE 20

Look at the sample questions in Exercise |7 and brainstorm and organise
ideas for at least one ol them,

Now link your ideas together to form paragraphs.
Time target — 5 minutes per question

The Answer Key has suggestions for the brainstorming only. You should
gel someone (your teacher or someone who has good English) to
comunent on and evaluate your paragraphs.

Writing the Essay — The Introduction

In many ways, your conclusion and introduction are very similar in that they
both state your opinion. The introduction is probably the shortest section of a
Task 2 essay. It might contain:

* arestatement of the question

* your opinion

* what and how you are going to discuss the question.

When you write your introduction do not:
¢ copy the question word for word
s give a lot of background information.

PRACTICE

Look at the following three introductions to the question below and decide
which you like better and why.

bout s
vily an
—7 0

N

they should - —|
{:deﬁee‘or “U L U

O O\

wnﬂ raffi c/pi\

use the nmne) mm

' To what extent do you agree with the above?

Introduction 1

Many nations are facing massive traffic congestion in their cities. This both
makes travel difficult and causes environmental damage. In order to solve this
problem it is necessary to establish alternative transportation systems such as
railways. In my opinion the best way to finance the development of public
transport is to tax car drivers.

Introduction 2

Motor cars were invented at the end of the last century and have developed
greatly over the last 100 years. In many countries families have two cars and
sometimes even three. As there are so many cars on the road there are often
traffic jams on major roads. It can take many hours to complete a short
journey at peak times in some major cities. Many attempts have been made
1o solve the problems of bad traffic. These include limiting the times cars are
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The Argument

allowed to drive in certain areas and making cars carry a certain number of
passengers. These schemes have met with varying degrees of success.

Intreduction 3

Many people say that if countries are serious about solving traffic problems,
they should tax private cars very heavily and use the money to provide free
rail travel. .

An explanation

Introduction 1 is good as it restates the question in different words and states
the candidate’s position on the subject.

Introduction 2 gives irrelevane background information {e.g. when cars
were invented, how many cars people have).

Introduction 3 is too close to the original statement in the question.

EXERCISE 21

Write an introduction for this Task 2 question.

A country's first duty to its citizens is to protect them, Therefore it is
logical that defence should take up a significant proportion of the
national budget.

Write a report for an educated non-specialist audience for or against
the above.

Remember to analyse the topic and the focus of the question before you
starl. You might also find it useful to brainstorm the ideas you want to
include before beginning to write.

E@et 3“\‘311111 1t H H
) \— o

Although you may have strong opinions about a topic or a question, you
should also state the opposing arguments to your case, to show that you
understand both sides of the prohlem.

PrRACTICE

Look at a section of the writer’s plan and final paragraphs for the ques-
tion below to see how this was done,

Too much education is dangerous. If people receive more education
than they need to function in their job, it only breeds dissatisfaction.

Write a report for an educated non-specialist audience for or against
the above.
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Plan

For Against

Gives people unreal expectations How do you decide the level of

Expensive education a person needs?

High level human resources

Not enough challenging jobs to
necessary for development

meet people’s expectations
Uneducated peaple unable to

Students a major cause of e pe
show initiative

disruption, reject authority
People have the right to attain
self-fullilment

Extract from essay
Seme [)(!(*IJ[C maly salf that education gfrm‘ [J('(Ii)fe unvealistic ambi-
trans; the luv ﬁf the market IJ[‘G(.‘L’ decrees that net erery cne can
fe a mmmyfug divecior: M ﬁrr! /}-r ererif fess there must fe maf
meare cml)foym’s. sa sanie coundries beliere there is rery fittle ])m'ni
m !mining ]J(’(l])fe /nr a fevel ('f ]0[ that !ﬁvy can never hepe lo
achicre. What is more, education is e.rFeu.sit'e. gﬁe:‘e’ﬂu‘e arer-
edncation is o wasfe af time and noney. e nather m‘gnmvnl agains!
edurm’irur u'mr[r/ fc that s!ur[cn!s marl o be a (Ii.s'ml)h't.'e in/fuem:e
o sor'i(’fy. Ghice you encaitrage /mil)fe to think far themselves it is

[ what o they an i[mrﬂ‘mﬂ. e s [mr([fy
H T | e = =
| are rige f fn}m Kdi }fﬁq Fﬂe ] u;}j{]‘, rad a{‘g*
N N ) / Y, N

[ fitru ventr

PrESH fﬁrd\"\}i i
%

/) (
/

7\

N \ NS O\

(-rgunisralinu.s'. N o/
e .s‘/n'te nf the [Jmﬁfems (l/ m'er-(’([umh'mz, nrost coundries need
ﬁrgﬁ standard rif hman resarces it fo order to ('mnl)g!e in the
world market, @(JHS’(!JH{;‘J chane ing fcr:fimlff}gy means that the toork-
/:*l'(,‘(’ has to fe ffe.rrﬁ(’ and rer.'(’l)h'r'c {o new ideas in m‘c[er fo fe rl/
valie fo emlJ[byer:s. Lhen a persa I8 mrfy trained teo ]Jm'ﬁlnn aie
J'nﬁ, it is not vealistic to c.rl)erl him or her to (I(Irl[)f lo a c'ﬁm:ﬂw i
ctrcumstances or an HH(’.I'])C(.‘I(’(I l)mﬂcm. o M this is not to niention
the moral r/uvxh'(ms involed i [imr'fr'ng education. Whe has the
rigﬁ! la say hero mnch education a persei is entitled ta? Tt
criteria conld fe used to decide a.férm[ ﬁf .w:/}aa[iuy?

eyl may ﬁe frie ![m! a grerder fere[ nf er[ur.:ah'nu .'eml.s' {o maﬁe
: ])(’al)[(’ more ra(/ic:a[. ﬂ(}umer%m; if .s'm:iely s not g:lr'lrg fo ﬁmune
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stalic, i st ﬁe e )(m’(/ I (d'(‘(‘('/?f e ir{ms. g/u’rrﬁn’ fﬂ(' ([c'(lrcc’
n/ m«/imﬁ:vm r'rI'H.\'f'(/ ﬂy o jr‘l'[r,‘/; fmv[ f'/ r'r/m'rah}in i r«n/;/ serve o
mu[’t' !/f(’ rmurh'y mnre ru/rr/)m(:ﬂ' rrm! f'(-Ht'r aﬁf(- fo H'i.fﬁ.\'lrm:l .w-f'i{r[

change i the [mrg i,
Think about the following questions. (The answers are immediately
below them.)
1 Which paragraph agrees with the statement?
2 Which paragraph disagrees with the statement?

3 How does the writer state her/his opinion?

Answers
1 Paragraph 2
2 Paragraph |

3 The last sentence expresses the writer’s opinion,

EXERCISE 22

Look at the following topics aund write two short paragraphs (about 50
words): one supporting the statement and the other against it.

1 Nobody should marry before the age of 30.

2 Everybody has the right 1o carry a gun.
IEL 1-ioT$ffﬂjé bﬁ ; se of 3
Ti gel ~ 10-minutes foreach t

The Conclusion

A good conclusion summarises the ideas presented in the text and restates the
writer's opinion.

EXERCISE 23

Time target — 3 minutes

Look at the notes that a student wrote for this Task 2 question and write a
conclusion.

If countries are serious about solving traffic problems, they shouid
tax private cars very heavily and use the money 1o provide free or
very cheap rail travel.
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Introduction

f‘)(run] netltons are fru'imi Hetssive Im/fir' n'uqt'.\'ﬁrdr in their cities.

’—[/;1\ l('n‘/{ HIHI{(’.\' h'r“"(‘[ t‘li‘//l‘{'"h (Uf(/ CeHses ('HJ’E.H'HJH('JHH{ {erHH(I(’.

:’g” M‘(/{‘J' id .S‘(‘fl‘(’ /[H'.‘)' /)J'('([(’Hl‘ il s H(’(‘(’.S‘S(”'.’l fo (’S‘[rl[{‘f’.ﬁ'/f (J[fl’]'”(l—-

lire h‘(ur.\'/r(lrirfh'm.! .s‘ys!(’ms such as mr'/u!nq.s'.

For

Against

Encourage people to use public
transport

Reduce the number of cars on the
road

Cut down on traffic jams/pollution
Save fossil fuels

More money to develop
infrastructure

Not door-to-door service like cars
People like owning cars

Increased taxes are always
unpopular

Cheap railways would lose money
and need state subsidies

Organising the Paragraph

In essays, paragraphs usually have a standard format.

* The first sentence is a topic sentence which explains the main point.
* The next few sentences develop the theme of the topic sentence.

* The last sentence should lead into the next paragraph.

I

O

‘:Wh ﬂmul /

N N \=

loo lﬂce\rhisw W -

N

T ri/!mt said that ])(’ra]J{v weed ta rorf e /(/ rm:’/n/, his is not frue.

Supporting arguments

y! s (/{'Hhﬁl[ wﬂelfmr inasi nf !/re j(aﬁx ij}[r’ (/0 are r'/‘ may mf}re fa

.\'rvr‘f}'ly. s heard 1o a'nm(/im’ l)(’('l)[(’ qc’Hr'm/ nureh .\‘(:H.s'/rur.’ir'u /J'('H'I the

u.wm/ [m/wr 5 m//ffml Ifm! Iu[‘m‘ ]![H(’l’ i st t‘//f('(’.\'. :Wiv;v'ﬁli‘t’ i/‘ ] {;lf

ﬂ/ jnﬁx are ('f {1.”[(’ m/ﬁa fo .’ﬁc u'r,rr'[f/ aml SHI /'(lﬂs e ru:.’mrm]

hermfud 10 nmnﬁ'f'm/. there is ne veasen for peeple I el quifty abeut
) iy

.s'!rulim} at home and r[m'ng S(Inm.fﬁr'ug niere r’uh'n’.s'tr'ny instead, I /ﬂ‘t’f il

conld te said that in these tines n/ ﬂt(]ﬁ rruvarv:ﬂuynwrd it is miere Jr.wﬁrf

not fo ivork as en aie yirim] ether l)c’r*l)fc' n/)lmrlruu'h'c'.s' {o f’t’f ﬂi[fr/[('([
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Summary
els most j(lﬁs are neither in!en’.m'rrg wor /ml(/m:tir'c'. the idea nf u'm'ﬂ'mg

{or contribute fo .wrric.fy is nat realistic,

EXERCISE 24

Time target — 5 minutes

Read the following paragraphs and decide on suitable topic sentences.

Firstly, every time [ go to Capunk it always rains so you can’i see

. anything and if you want to go anywhere you are going to get very

" wet. Secondly, it is usually very crowded. if you go for a quiet walk,
you find yourself bumping into day-trippers ealing uninteresting
packed lunches from cardboard boxes, while listening to Michael
Jackson on their car stereo. Finally, after about 6.00 a.m. traffic is at a
total standstill and the cool damp air mixes noxiously with the
exhausts of a thousand vehicles. Overall, I think there are betier
places to go for the weekend.

In order to do this it is important for the leaders to earn the trust of

their subordinates. Employees need to feel that i;} a crisis the manage-
nt will 100k after t eilﬁnte ests and-that they ‘will neverbe asked 10—

lo anything that‘the manager wouldn’t be prepared to dol him or| U U

M Ny N NN S O, W

herself. This type of relationship can only-be established if good’

channels of communication exist. Therefore motivation is based upon

a mixture of mutual trust and good cominunications.

Unfortunately, many developed countries consider it uneconomical to
send their food surplus to regions where hunger exists. Also some of
the richest nations consider control of the food supply a means of
putting pressure on developing countries to make them politically
subservient. Another problem is that often the food that is sent to
countries suffering from famine does not reach the people who need
it. Bureaucracy and corruption cause the food to be stored or sold on
the open market,
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EXERCISE 25

arate piece of paper.

Time target — 15 minutes

Write the paragraphs for the following topic sentences. Write on a sep-

1 Watching too much television reduces people’s capacity to think for

themselves.

These words and ideas might help you.

Accept opinions/without thinking

Sunplistic view of life

Most TV non-educational

Second-hand experience

2 If people are allowed to carry guns the number of murders will

increase.

Cohesion

In a good essay, each sentence should be linked logically to the sentence
before and the sentence after. Two common ways of doing this are:

e cause and effect
®*  contrast.

CAUSE AND EFFECT

Example

oy
0 N%

/';]
N\ (s
ﬂtjfs;{n@{mqg.
) U \s D =

The first sentence is the reason for the second sentence. If we use ‘so’ we join
the two sentences together. If we use ‘therefore’ we start a new sentence.

It is also possible to change the two sentences round so the first sentence is
the result and the second sentence is the reason.

because
as

I’'m tired this morning

[ went to a party last night.
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EXERCISE 26
Time tlarget — 5 minutes

Write the next senence using reasons or results as necessary. (Some of
ihese senlences enn be used a8 eltlier b Fohson oF i reslt) Welis (et on

a separate piece of paper.

1 She found lipstick on his shirt ...
2 He wokeup ...
3 1came to the lesson late ...
4 Rainforests are important for the environment ...
5 Unleaded petrol reduces exhaust emissions ...
6 Most people in prison come from poor social backgrounds ...
CONTRAST
Example
The food tasted wonderful | but | was sick for three days afterwards.
. However,
or

Although the food tasted wonderful, Fwas sick for three days afterwards.

Often one sentence is used to modify another (add extra and contrasting
information to the first sentence). To do this we can use:

o although  which usually goes in front of the flrst sentence. A comna
/'l h flrﬂzsent nc mmthe nd- sentence 1
bu ally oes | in) tl niﬂd]lefﬁ_‘ie n\ﬁvo ééntences H U
requires N1 extra punctuation <
s however which usually begins a new sentence and is followed by a
comma.

Remember:  You cannot use ‘although’ and ‘but’ in the same sentence.
You cannot use ‘however’ and ‘but’ in the same sentence.
You cannot use ‘although’ and ‘however’ in the same sentence.
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EXERCISE 27

Time target — 2 minutes for each group of sentences

Link the sentences in each group together into a paragraph using connect-
ing words.

1 ' Most countrics have made some efforts to control the traffic in their
major cilies.

These efforts have often failed.
The number of cars increases so rapidly that the measures taken are
immediately out of date.

2 Floods are a major problem in the city.

The government seem (o be making very little effort to improve the
situation.

They often make speeches about the importance of water catchment
areas.

They continue to build on every available green space.

3 Many people say the space program is a waste of money.
Developing another planet could be the answer to overpopulation,
Life may be possible on another planet.

Life would probably not be very pleasant.

{L (LL %j;\‘ ’/‘js C [,,:,\\\‘ N
El@st% 'ue uceﬂof bH}dw mltﬂajjﬁﬁaw driig

N ’,/ \—/ \\*///\ 2L 0O
They could also be used to feed the poor and provide them with
farmiand.

Trees are useful for stopping erosion.

Logging companies provide jobs and wood product exports are a
valuable source of foreign exchange,
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Grammar — Tense Check

The Present Simple Tense

The present simple tense is used to describe:
¢ habits
* things that are always true.

"This tense is often used for IELTS Task 2 essays to describe existing situations.

Examples
Many trees take twenty or thirty years to reach their full size.
Many people still don’t have enough ro eat.
Many governments consider money to be more valuable than people.
The space program is very expensive.

The Present Perfect Tense

The present petfect tense is used in three situations.

1 Events starting in the past and continuing into the present.

Exantples
The world population has grown rapidly over the tast 100 years.
There have always been wars.
Nuclear weapons have not been used in the last 50 years.

2 Something that happened in the past but has a general present result.

Examples

v d-her ba y H =~
Tipen. IR

ently 11‘ic‘és\k} % /|
otld Bank has/just-issued a-repere—" )
>/

In all these examples the event happened in the recent past and is still news
now.

3 Experience. The present perfect is used to talk about an event that hap-
pened in the past, where the time or the frequency are unknown.
Examples
I have seen a ghost, (When?)
Man has been to the moon. (When? How many times?)

In this use of the present perfect, it is not possible to use the continuous form.
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The Future

For the purposes of Task 2 essays, you are most likely to use ‘will’ to write
about the future.

Examples
The rainforests will vanish in the next 20 years,
Most diseases will be curable in 50 years time.

Remember: ‘will’ is always followed by a verb in the infinitive without ‘to".

EXERCISE 28

The followmg IELTS Task 2 essay has 10 mistakes in it. Read the essay
and correct the mistakes.

Time target — 10 minutes

As most foreign aid often benefits the donor more than the receiver,
developing countries should refuse to repay their debts.

To what extent do you agree?

Orver the /msl 30 years, many countries have .s‘lmrl nost (i[ their

fneane r('l)frying the interest on ﬂu'oif/u dels. ﬂ(any f)eﬁlch are

consider the initial loans, rrfs‘lmm'[ e fm' these defis, to fe more fen-
mmf to the lender than to the lorrower:

vyu f/;' )a\t, Hosd (/(ﬂ‘(’f(}ﬁ” contries wele s/xm.’ «f aearlal fmrr/s fo

cotil Ies H'E’I{' s '(,(/ o JJNEIL( ¢ fncms fru /iJ);l}e;js [ [wflJ Hc’ (m/ur\-i/
tries wif[ ﬁer'mue s‘e[f re[r'me! '7fﬂw(’rm; !ﬁu mﬁm’tj ﬁen fo [e rrse(/
{o nmff’ (l”lt[ ]Jmfu's fm (IPJ (’[(’[J(’H or la [me l[(’ ]J(i([(’is n/wmf'u[

/fum[s ()Ji'((’ 1/(’ f”(‘l‘l(’i] is HS(’{I’ f/(’ ]erffem (‘/ f(l)(i'lli”(’m' /I(I(/
[(’J(IH

Since the (9705 mant Jem’f(*lnnq counlries have fmuu{ that [/eq cant
pay tack the foans or eren the interest i accunmlate o the rans,
Gmne(]rrenify the conntries hare borrawed nare money fo pay ferck:
the interest. This gare western countries the poiver dictates qur-
ernmient ]m{arj I[nmrgfr the 7Lm[c/ Bk and the Inter nalienal
q(('“(’fr“j qmar/ (7/("8(’ fmamm[ instiftions ma/} inferest i
bafanee sheets. grr’wﬂnm natrens [mrr'r/ lo u([rx]n‘ lmfuwv which do
Jm!/rmy fo (/er'c[nl) ff(’” resonrees er un/mu.'(' f[(’ [m‘.s a/ the [m.a[

i)(’( il) [(’.

A\ 7\\
[fl'f/’(l /T(’ NJ NSIJ(‘{T 1€ 1ecessdf /J fﬂ (f’i‘f'r('ﬁ}”l(’if f(’ﬁ are, ﬁ'lef(}/ﬂ H U
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Conntries that g(’i ﬁ(lri((l[if in this deft .s")h'a[, had no chance ('){
]’”,']’.”f] tack the initial Hiency ferraved, while the fanks nml‘iug
the fecans make hee o thiee times the nienei {ent er/ic'r the inter-
et /Jaymcni.\' are lafen inte aceount. o As mest donor comiries were
(ifr('ri(!y l'i'l!(l‘l.(l bath in terins c-/ Mreltcy and i terins rl[ CCHOIIC
interest, il is nmm{[y r‘i{,/;f /iu' Jer!:’[inf)r'ng carortries o n’ﬁr.\'e le pay

fack /ﬁrm’gn focans.

Future Possibilities

. ug&lz i9 WL

Often in Task 2 essays, it is necessary to speculate on the possible resules of a
future action. This is often done by using a conditional clause.

Example
If the rainforests are cut down, they will become deserts.

The first part of the sentence ('If the rain forests are cut down’) presents a pos-
sible future situation. The second part of the sentence (‘they will become
deserts') describes the possible furure consequences of the fisst statement.

N
@nemy-
)\ Al

N

Wrile possible consequences for the following situations.

e

Time target — 10 minutes

1 If the world population continues to increase, ...
2 If the number of cars isn’t controlled, ...

3 1If it rains this afternoon, ...

4 IfI get a band eight in the IELTS Test, ...

5 Ii there is life on another planet, ...

The second conditional is also used to speculate about the results of future

events. However, the second conditional is used when the events are impos-
sible or the writer considers the events to be very unlikely.

Example
If aliens landed on earth, they would think human beings were very

primitive.

The Writing Test I 151




Modals

Notice the first part of the sentence uses the past tense while the second
section uses ‘would” instead of ‘will’. Like all modal verbs, ‘would' is followed
by a verb in the infinitive without ‘to".

- Example

If [ were you, | would find a different job.

Notice that ‘1" is followed by ‘were’. This is only possible in conditional sen-
tences.

Complete the following second conditional sentences.
6 If governments destroyed all nuclear weapons, ...
7 1f people didn’t use money, ...

8 If the polar ice caps melted, ...
9 If I were president, ...

10 If I saw a ghost, ...

Modal verbs include: must, have to, should, don't have to, mustn't, should,
shouldn't, could, couldn’t, can, can’t, would, wouldn’t, will and won’t.

In a sentence they always come after the subject and before a verb in the
infinitive without ‘to’.

Example
I might go on holiday after the IELTS Test.
New laws must be made to control pollution.

%: SE 30 NV H H | A A 54 N NN
(| || | \ I Ve [ W[
N— N ‘Q‘/ \\ ) ‘\L—/’J (G L \ \), U
Look at the following essay and puq e correct modal ver sintothe —

spaces. Sometimes there may be more than one possible answer.

Time target — 5 minutes

Women will play an increasingly important role in the work place of
the future.

To what extent do you agree with the above?

In developed countries, recent trends suggest that in years to come
women (1} make up a large percentage of the workforce.
There are a number of possible reasons for this.

Due to the recession in the developed world, companies are reluctant to

take on full-time workers, who (2) ____ ___ expect health care, a
pension scheme and redundancy payments when dismissed. Instead,
many employers prefer to hire people at an hourly rate. These employees
tend to be women.
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A lot of women (3) _______commit themselves to a forty-hour week
as they have children to look after. This is particulatly true for single
parent families, where the woman (4)_______ look after the children
hetsell. There (5) . also be the perception that a woman is
only working to supplement her husband’s income and so full-time work
is not as impostant.

1t (6) . also be true to say that increasing sexual equality has
meant that more women are reaching management positions. This in turn
{7y mean that the number of women also increases in lower
positions, as women (8) be keen to employ other women. If
this is the case, this trend (9) be expected to continue.

It seemns likely that the number of working women (10) con-
tinue 1o Increase over the next few years as conipanies continue to seek a

workforee that (11) ______ be easily dismissed and is more flexible
in their working hours. Although this (12) _______ be a good thing in
terms of sexual equality, it is a major setback in terms of worker rights.
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29 damaged cells Section 2: Writing
30 offspring
31 germ cell : TASK 1
32 abnormalities
33 G Exercise 1
34 C 1 world 9 retrenchment
35 D 2 land 10 gradual
36 E 3 harvested 11 grain
37 time/money/capital 4 virgin 12 affected
38 radiation/nuclear accident 5 program 13 government
39  windfsun/solar/hytro (must have two to be 6 great 14 policy
correct) 7 prices 15 rmarket
40 renewables/carbon-free energies 8 rapid 16 forces
41 wind turbines/windmills
42 safely {and) cleanly EXERCISE 2
1 past 7 rpd # then ™~
PRACTICE TEST 3 2 # {number) 8 rpd # then ™
1 C 20 CO 3 - 9 grad then rpd -
2B 21 SL 4 ~ 10 drmtc
3 A 5 cont” ficed
41 ‘D ﬁ ﬁrad - - -
> YW Y\ Y YO H \ & : 77\‘\‘ | ’ljil : u B /\ /] Ui\\‘//x‘\u
6 (small)gas turbine/ EXER 'E E A“FSWERS/

A From 1989 to 1995 the production of
timber declined moderately.

generator/(elastic}

steel chassis
B From 1986 to 1989 enrolment numbers

! ITlaSUC kits decreased rapidly. Then, since 1989 to the
8 lighter present, enroliment numbers have increased
9 GM steadily.
10 R 31 vi C From 1989 to 1995 Type [ washing
11 F 32 i machine sales increased steadily, whereas
o R 33 Type Il sales rose only slightly.
N D From 1970 to 1975 LP sales increased
13 5C 34 C stightly then decreased steadily to 1995. In
14 R 35 G contrast, cassctte sales rose steadily from
15 B 36 A 1970 to 1995 and from 1985 CD sales grew
rapidly.
16 A 37 F
17 D 38 D
18 C 39 BJ/E
19 PR

§
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Exercise 4 . EXERCISE 7
land

land area

A TFrom 1989 to 1995, there was a moderate
decline in the production of rimber.

B From 1986 to 1989, there was a rapid
decrease in enrolment numbers. Then, from
1989 to now, there has been a steady
increase in enrolment numbers.

C Trom 1989 to 1995 there was a steady
increase in Type | washing machines sales,
whereas there was a slight rise in Type 1l

sales. Exercise 8
D From 1970 to 1975 there was a slight

increase in LD sales, then there was a steady

decrease to 1995. In contrast there was a Srem 1910 to 1950 the mumber n/ Indian

steady rise in cassette sales from 1970 to

1995. From 1983, there was a

steady growth in CD sales.

insurance
the cost of insurance
the level of unemployment

unempl()yment levels

-1 &N N B e

salaries

This is a sample answer only.

and Tikistani z'nrnu'r/mrais‘ increased sfu/faifr
fa ]m! mrr/m 1¢ o0t [wnlife 7/(4:, a/!u an

UHH(I[ (l.l(i/) f/;(‘f(’ 1S o ?ﬂl”(/ inerease la

EXERCISE 5 | arer a/),)mmna!c/y 25 0o mmugaani.&-.

1 exponential growth/dramatic increase Betveen 1965 and 1970 the number (?/ -
2 ﬂuctuated' igrants /ﬁrchmtc(/ with an aerall u/nmrr/
3 remained constant trend.

4 upward trend

0 ticlyE L (C
0 N

S)F/Jmﬂ/,/lf( JHHY [(ZC(’SI AJH;/HLU NN
gnmu;u ‘I‘? mqugl nww !ﬁrir‘lcm [J;j U U U

EXERCISE 6 etieeen 1910 and 1960 10 rghty 15 et

1 offto 6 to ,Jcnl)le, hen there was a rery shas p inerease

2 at 7 at arer o« lﬁi"{f(’—f ear /)('”-(’(/ lo u })(ﬂ'(i/; (‘{j”ﬁf

3 by 8 by, of wnder 35 eee ];eo/)f(’. From1963 1o 1970 the

4 at 9 at snnber (nf t'mmigrmr!.s‘ (/m/)/m/ (/nmm!r'm”y

5 at 10 at, to, at with- same fﬁmluah’wr.s' lo '}'u.s'.’ arer a0
/)m]rfr.

[102 words)
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EXERCISE 9

d > 9 =asslt = 18%

Conclusion ? arrstd < 6

police don’t arrst €7

Time/tense 1994—past

Topic (5 :@ arrsts + rsns why

General trend  arrst 2 <d

Details High % = Pblc drnkng & =32%, but @ > &; @ =37%.

? > & = Dink drvng = 25%, Brch ordr = 17%,
Theft = 16%, othr = 19%

Exercise 10

Here are some sample sentences for you to
compare with your own.

A Theft is the most common crime.

Theft is slightly more common than
violence.

Theft is just under four times more

Asule ﬁom theft, there are three times

more incidences of violence than of other

crimes.

B Full-time employment is the most common

type of employment.

Full-time employment is considerably more

common than part-time and casual
employment.

About twice as many people are employed

in full-time work than in casual work.

. common than otherﬂ :r:;;

Exercise 11

Incorporating data

Here are some sentences for you to compare

with your own.

A Theft is the most common crime, with 94
cases per 10 000 people.

Theft of which there are 94 cases per
Ople is slightly more common

th nv fmcg ‘(65 : es) {g \‘/‘ HU H

i \\/

7/ \ —/
Theft, which accounts for 94 cases per
10 000 people, is just under 4 times more
cominon than the other crimes (25 cases).

Not including theft, there are 3 times more
cases of violence (94 cases per 10000
people) than of other crimes (25 cases).

B Full-time employment, which makes up
56.18%, is the most common type of
employment.

Full-time employment (56.18%) is

considerably more common than part-time
{19.24%) and casual employment (24.58%).

About twice as many people are employed
in full-time work (just over 50%) than in
casual work, which accounts for about 25%
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ExeRrcise 14

One way to do this excrcise is to group the
sports according to team sports and individual
sports and then describe the most and least

EXErcISE 12

Here is a sample answer describing the charts.

J/rc tivo ]n'e rt/mrl.s' .s-ﬁr'n' !ﬁ(f lJrn]mr!irm ('f

mr‘rf(’.\' rm(/ /cmu/&w m'rc.vh’fl and the bar popular in each,

chart shews reasons ”,[”/ {/rm/ were arrested, Team sports: rughy, (uotball, cricket, baseball

[ndividual sports: swimming, athletics, golf,

— ey Y=

Tl L

L R

P e

[ T

(jH g(’”(i(l[ /(’Hl(l&’\ were (”M’Si(’(l HHH[I {CSS tennis

/Jequm.f/y !/mu ma[es rrml iere mms!w[
Hi'ﬂ‘)l'[i‘l fm ]m/ I (/rm[mr/ uml rm(m[!
HHeredsy JH(I[(’S ere ere {l[('[fj fer [(’

(H'i'(,’.w'f(’({ ﬁ’i' a range (?f (l![(’.? Crintes.

The ]11'(' chart shoes that afent one thivd of
the male I)nlm[ah'rrn teeis arrested 1994,
while mr@ ne per cenl ri{ the /c’m(tf(' pepi-
lation was (U'i‘(’.s'tc(l. She /ir'f/fm.s'! Parr‘fu!ugf
u{ arrests (.f nre, which was (t/)/n‘n.rinmlc’fy
32%, was /;lr lHr"-[I'(‘ rlrr'nf'ing g(ﬁurmw; this
/Jm(enlaje was fess ![mn the i)mvumlle f
{enmfcs arrested /m the samne reasoi, which

was a/J[umumtfc’ft] 37 q[d[(’\ were e

(a{ﬂu! {7 p), n[/m erines rrlilnmmmh’[j
1/_.‘@) and thefl (m"p). Other (iﬁemcs It

i(-‘ﬂl.(.'[i [é”l(l[‘&‘? were e f'('”””('”[fj (H'J'U.\'J'(’(I

![mn nm[cs' nere ﬁn' u.s'.s'mr[l, u.'frcre i consti-
!H!C([ Jus! um[er 15% t-f ![c darvests. G}ire /)e'
cenl n[ IHen unr/ (t[('”! 6.5% (f/ tonren l(’ﬁh(’({

to s u:ﬁy I/reil ere m'n’x!(’({.

cﬁll‘ a])l)em's I/ia! einen are er'l/:cr mere fmu—
(161'([&19 t’ﬁm: e or !/;m' [mu euﬁarr'mm’nf

Ufﬁﬂm:s are e reﬁrr'frmt {e arrest twonen,

{200 words]

Exercise 13

There are no sample answers for this exercise.

EXERcISE 15: SAMPLE ANSWER

The tatle shews the (/i{ﬁ’n'ru'(’x in salaries
fm' males and /enm[bs /éir' several }({s al the

National Institute r*{ Hoalth (f\gj( )

erls can fe seen, mens salaries exceed these
(i/: wamen i all /m.w'limrs c.rr-e,:[ /iu' e jﬁﬁ

l’_r]/m. Shere are alsa umny mere males

e J/ﬁfrjer/ al the NI Iﬁmt /bnm{i’s.

St is clear that /cnm(es‘ at the N4 I earn
sar/mfnmr![j less mencl than nm[es with (/!I(

fmeuws i w[(uws mur]ury [e!uccu 5197 uml

91215 For cmm)[m a nm[c rmm!u}n{m with
@ ” )u(r\‘ f \PF NH( fwums \(t/‘fw\mMT UJHU
Ifr(’ Sanie /)ﬂ\liimr earns 3DFI\IM 9‘1 iy ('H{J/
in the lm.smm r'/ Ll (/ue/ 20D wehere
salaries fm' femu/‘cx are /n'g/f.er (/1] s1e 5(*9).

f]Criwever; it st {'v nvim" Iﬁu! there are

— )\~

on[y seven Homen i this l)n.s'ilf(ur.

There are 153 wales with 0 rlmr/r'ﬁm—
tons rmn/mrcr/ la _}'usl 71 [c’mu[c’s. rSiutifur[y
there are 473 male cm,)fr.a'r ees 1ehe hare «
P whereas there are (ru[y TS e, The
/ﬂggcs! (/r'ff'reuce in nmbers /br ay one
,m.\'i!irm is in the /)n.s‘r’iima ('f urre.s-!r'yalw with
a THD. There we 251 wales aned nn/y 85
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agn .wmrm(u'y, il I r.'[(*m' !/éaf Iﬁerc 1s /}'H[e (gurrr ![i(’ marﬁ’.v /mrre ﬁewr ru/fcr:lc’(/ [J/ !/r‘c
e‘]HH’/ betiveen the seves al the NYIC ) administrator and the werall tand score eal-
ferims ri/ .s'afm'y rm(! mmrﬁem rl/ mrﬁ ser rrufal(f(/, a r'er!iﬁ'('a!e is nmr/c onf (m(/ sent o

enrlJ{m/p(/, the candidate.
[183 words] [142 worcds]

EXERCISE 16: SAMPLE ANSWER TASK 2

Note that most of the answers given here are
‘ only samples. There are generally many other
cedures are carried out [rﬂm when the eran- possibilities.

The chart shows what a(/un'ua'.s'!mn'a'e pre-

nialicn s cmnp[eler] to when the marfs are

sent to the candidate. Exercise 17

1 Should animals be used to test the safety of
he rmc/r'ng and [is!em'ng tests are collected new products?

and marked [f/ the adwministrator, The adhmin- 2 Should the ownership of private cars be
taxed very heavily to subsidise cheap or free

wsirator lﬁeu refains !ﬁe mm'ﬂ'.s' am{ wdils fbr
rail travel?

the other lest scores fo come in.
3 s the government responsible for providing

he Slrmﬁ'iny tesl is assessed /r/ the high«quality free health care for the people?

eraminer, %en fﬁe marf’s are sent to tﬁe
Exercise 18

L Should women give up their jobs to reduce

1

Hunﬂmpl yméng? 0 LAV
CLLC L] 7 0l ]]U
Would wom 1‘1;;9;11{@1 t@ﬂa‘gz gole-of

\. g

ar/uu'm'.\'h'rr!m: he ntertiens !a/m is then sent

{o I/IC’ eraniinaliion &am'(/ u’ﬁﬂ ’

the marks housewife improve Woral values?

are sent fo the administraton -.%Sr'mifm'/y. the 3 Do you agree that women will play an
rm'iliﬂg fest paper is senl lo the eraminaiion increasingly important role in the
: : . workplace?
toard /m' ﬁu'fﬁ(’r leassessment or .vlnmgc.‘
Exercise 19
For Against
World-wide communication possible Only the rich can afford access to the internet
Greater access Lo information Computing skills are necessary to operate the internet,

$0 a new technol devel
Makes copyright laws harder to enforce, so harder - .ﬂe INOTeEY gap develops

to keep new technology secret

Difficult to censor
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EXENGIBE B0

1 As public safety is of the highest importance, it is often necessary to test new py oducts on animals. Tt is
better for a few animals to suffer than for human life to be placed at risk by untested products.

For

Against

Realistic tests are necessary
Better that animals suffer than humans

Tests are necessary to find cures

Not ail animal tests are important
Animals have rights

Often compater simulation is possible

2 If countries are serious about solving traffic problems, they should tax private cars very heavily and use

the money to provide free or very cheap rail travel.

For

Against

Taxes on cars would discourage people from using
cars ‘

Good public transport would increase the mobility
of the people

Save natural resources

No door-to-door service
Unpopular with car owners so a vole loser

Takes time Lo develop the inltastructure

3 The quality of health care a person receives should not depend on the size of their bank balance. The
government is responsible for providing a high level of health cave for all its citizens.

For

Against

| Health is a fundamental|ri ™/
\\ /| Good hospitals ar rnment %l reqp%;smblm
I\ O

A healthy population is vital to national interests

d]lh 8 th esponslblh of the individual
=\ N N 7N VA
emg pop anlm‘ i k%iFealth ‘cara mnpractncﬁ‘ U

—/ S5O N\

EXERCISE 21

Although it is definitely true that a govern-
ment is responsible for protecting its people, it
is less certain that spending money on defence
is the best way to do this: Some countries, for
example Costa Rica, spend virtually nothing
on defence and yet manage to survive. It would
therefore be true to say there are ways of pro-
tecting people that do not necessitate a vast
military build-up.

EXERCISE 22
1 Nobody should marry before the age of 30.
For

People who marry after the age of 30 have-
had an opportunity to see a bit of the world
and are more likely to know the full -~
implications of married life. Many people
who marry young end up getting divorced
because they are not experienced enough to
deal with the unfamiliar set of problems
that married life inevitably brings.
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Against

It is an overgeneralisation to say that
nobody should marry before they are 30.
People are different and so some people
may be ready to marry very young, whereas
other people might still not be ready to
marry at 30. Besides, one of the main
reasons for marriage is to have children and
too large an age gap berween gencrationy
can cause cause relationship difficulties
later.

2  Everybody has the right to carey a gun.
For

One of the fundamental rights of
humankind is to protect him- or herself.
Therefore the government has no right to
tell people that they can’t carry a pun. A
gun is not dangerous in itself, it is the
person who uses it who is dangerous, so
rather than ban weapons, it is inore sensible
to educate people to use weapons
responsibly.

Apgainst

who will get shot. [t is noticeable how
much higher the murder rate is in America,
where guns are allowed, compared to
Britain where guns are not. To allow people
to own guns only serves to escalate the
amount of violence that is tolerated.

3 Patriotism is the biggest cause of war.
For .

Patriotisin teaches people to believe that
your country, and by implication your
government, is always right. This makes it
easy for unscrupulous politicians to
manipulate the pride the patriot feels in his
or her country to hatred of other countries
seen as rivals or enemies.

1§ [N
easier it is to~ //
)
of people

Against

It is very important for people to fecl pride
in their country. When people are patriotic
they are more likely to take an interest in
the country’s day-to-day running and
therefore less likely to allow unscrupulous
politicians to drive a country to war.

EXERCISE 23

Although taxing private cars would be an
unpopular short-term measure, it would even-
tually solve the problem of road congestion.
Cheap railways and expensive cars are
undoubtedly in the public interest. However, it
is unlikely that any government has the polit-
ical will necessary to bring in measures which
would undoubtedly alienate influential groups
within society.

EXERCISE 24

1 There are three main reasons why I don't
like going to Capunk.

2 If managers are to be successful, they nced
to motivate their staff.

3 Ther

H every

is enough food in the world to feed

ody. () \W W =) N U a\
o W U\ g U A =
EXERCISE 25

1 Watching too much television reduces
people’s capacity to think for themselves.
Firstly, watching television makes people
lazy as viewers are given second-hand
opinions, which can be used as a substitute
for individual thought. Secondly, most
television programines are primarily
entertainment as they are designed to
attract viewers away from rival channels.
Therefore they are aimed to appeal to the
lowest common denominator and have
little educational value. Unlike books or
even radio, television leaves little scope for
the imagination and so tends to dictate
simplified role models of what life should

be like.
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2 1f people are allowed to carry guns the
number of murders will increase. The link
between guns and murders has been
consistently proved by world crime figures.
There are more people murdered in
America than in Europe, largely because
guns are readily available. [t stands to
reason that if people can easily obtain guns,
they will use them. Therefore the only way
to control gun-related crime is to make it
extremely difficult for ordinary people to
own a gun.

EXERCISE 26

1 She found lipstick on his shirt so she left
him.

2 He woke up because someone was throwing
stones at the window.

3 1 came to the lesson late so [ missed the
test.

4 Rainforests are important to the
environment as they act as the lungs of the
world.

5 Unleaded petrol reduces exhaust emissions
because it reduces the amount of toxic
gases in the atmosphere. :
e
social “mckgmumdq h‘nfc n
opportunity to engage a good L{WYCI’.

EXERCISE 27

1 Most countries have made some efforts to
control the traffic in their major cities.
However, these efforts have often failed,
because the number of cars increases so
rapidly that the measures taken are
immediately out of date.

2 Floods are a major problem in the city but
the government seems to be making very
lictle effort to improve the situation.
Although they often make speeches about
the importance of water catchment areas,
they continue to build on every available
green space.

3 Many people say the space progran is a
waste of money but developing another

|

planet could be the answer to
overpopulation. Although life may be
possible on another planet, it would
probably not be very pleasant.

4 Rainforests are a valuable source of
biodiversity and new drugs. However, they
could also be used to feed the poor and
provide them with farm land. Although
trees are useful for stopping erosion, logging
companies provide jobs and wood product
exports are a valuable source of foreign
exchange.

EXERCISE 28

The correct forms of the verbs are in brackets
following the underlined error.

Over the past 30 years, many countries have
spent most of their income repaying the inter-
est on foreign debts. Many people are consider
{consider) the initial loans responsible for
these dehts to be more beneficial to the lender
than to the borrower.

In the past, most developing countries were

short of ready funds to build the infrastructure
necessary for development. Therefore, foreign
countries were asked to provide l()am for pro-

jécts to help the coy ne. -
( ecome\ @lf reliant Iuwe er, \tl ‘ﬁn(‘b“: y U
ofteh to be used (W'l oftenxtlﬁed)h) inake
quick profits for developers or to line the
pockets of corrupt officials. Once the money is
used the problem of repayment had began
(begins).

Since the 1970s many developing countries
have found that they can’t pay back the loans
or even the interest is_nccumulate (accumu-
lated) on the loans. Consequently the coun-
tries have borrowed more money to pay back
the interest. This gave western countries the
power dictates (to dictate) government policy
through the World Bank and the International
Monetary Fund. These financial institutions
only interest {(are only interested) in balance
sheets. Therefore nations forced (have been
forced) to adopt policies which do nothing to

‘develop their resources or improve the lives of

the local people.

SN
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Countries that get caught in this debt spiral 7 If people didn’t use money, they would
had (have) no chance of paying hack the have to use a barter system.

initial money borrowed, while the banks 8
making the loans make two or three times the
money lent after the interest payments are
taken into account. As most donor countries

If the polar ice caps melted, many
countries would be flooded.

9 If I were president, | would make Monday

were already repaid (have already been repaid), a holiday.
both in terms of money and in terms of eco- 10 If I saw a ghost, [ would try and take a
noic interest, it is morally right for develop- photograph.
ing countries to refuse to pay back foreign
toans. Exercise 30
1 will 7 might/may
Exercise 29 2 would 8 can
1 If the world popularion continues to 3 eannat (can't) 9 can
increase, many people will starve. 4 has to 10 will
2 If the number of cars isn’t controlled, 5 might/may 11 can
traffic jams will get worse. . .
6 may/might 12 may/might/could

3 If it rains this afternoon, it will be difficult

to get home. EXERCISE 31
4 IfI get a band eight in the IELTS Test, |

will have a party.

1 C

YES

5 If there is life on another planet, they may
be trying to make contact.

6 If governments destroyed all nuclear

rweapons,people wzﬁll Etﬂ safér‘\
N\
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